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2 657,000 657,000 0
= 2,400,000 300,000 2,100,000
Al 2,000,200 2,000,200 0
= 1,500,000 0 1,500,000
8,008,016 8,008,016 0
NGt HHE C2BY XM(DSUER/EZ) 11,890,050 9,090,050 2,800,000
= 1,600,000 300,000 1,300,000
Al 1,843,000 1,843,000 0
= 1,500,000 0 1,500,000
6,947,050 6,947,050 0
EERET 6,658,000 4,258,000 2,400,000
5 1,100,000 0 1,100,000
Al 858,000 858,000 0
= 1,300,000 0 1,300,000
7 3,400,000 3,400,000 0
HESXASED2 TRHOIANL &I 1,000,000 200,000 800,000
= 800,000 0 800,000
2 200,000 200,000 0
401 AZHIL 2] 1,000,000 200,000 800,000
= 800,000 0 800,000
> 200,000 200,000 0
01 A&l 1,000,000 200,000 800,000
= 800,000 0 800,000
2 200,000 200,000 0
m 2 F2xt 800,000 0 800,000
= 800,000 0 800,000
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s 500,000 0 500,000
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s 500,000 0 500,000
W 2t2% 500,000 0 500,000
s 500,000 0 500,000
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= 500,000 0 500,000
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Al &8I 600,000 0 600,000
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= 600,000 0 600,000
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s 500,000 300,000 200,000
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= 200,000 0 200,000
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s 300,000 300,000 0

= 200,000 0 200,000
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s 300,000 300,000 0
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2 & 500,000,000 500,000 300,000 200,000
= 300,000 300,000 0
S 200,000 0 200,000
BUGETAE F=H o222 S5 HHdZA 200,000 0 200,000
S 200,000 0 200,000
401 AEHIZER 200,000 0 200,000
= 200,000 0 200,000
01 Al&Hl 200,000 0 200,000
= 200,000 0 200,000
] 2HZ=2XE 200,000 0 200,000
= 200,000 0 200,000
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At 200,000, 000& 200,000 0 200,000
= 200,000 0 200,000
ot M| (2 /ol 1,739,000 939, 000 800,000
s 657,000 657,000 0
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Al 141,000 141,000 0
- 141,000 141,000 0
2F0IetEd 800,000 0 800,000
= 800,000 0 800,000
ST AJ0If3 2 43 AL 800,000 0 800,000
= 800,000 0 800,000
401 AEZHHZF 800,000 0 800,000
= 800,000 0 800,000
01 Al&HI 800,000 0 800, 000
S 800,000 0 800, 000
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